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SKATECANADA

STAR TECHNICAL CLARIFICATIONS

Updated July 1, 2019

CLARIFICATION #1 — TECHNICAL REQUIREMENTS

Category

STAR 3 & STAR 4

WBP Restriction

Maximum two jump combinations. One jump combination must be 1Lo+1Lo+C.

Error Skater executes 1Lo as a solo jump or Skater falls on 1Lo, and either

as part of a different combination. completes second 1Lo or not.
Penalty Jump will be marked as Invalid. 1Lo will be considered as a failed

attempt at the required combination.

Example 1Lz 1A 1Lo+C 1Lo+C

1Lo — INVALID 1F+1T+C (fall, second jump (fall, no second

1F+1T+C 1S ignored) jump)

1w 1Lz+1Lo+C — INVALID

1S 1F

1Lo can only be included as 1Lo+1Lo+C in the program. Any other inclusion will be invalid.




